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Geometry(H)
Algebra Review with a Geometry Twist!

Let’s review some formulas and concepts about lmes from algebra
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The slopes of parallel lines are &;{ beAX

The slopes of perpendicular lines are W& ﬁ a4

Let’s try some review problems ...

For each problems use the points A(3,5) and B( -8 7)

@ Find the length of 4B. /-
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4, Find the equation of the perpendicular bisector of AB.

5. Find the equation of the line that is parallel to AB and passes through-(-1,-2).
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@ A line with m = -1 contains the points (5,-2) and (x,-8). Solve for x.
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7. Find fhe value of a, so that the line through (7,1) and (4,8) is parallel to the line
through (2,a) and (a,-2). )
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9. AABC is a right triangle with coordinates A(-4,1) and C(2,-1). Point B is on the y-axis.
Find the coordinates of B that would make m«B = 90°.
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10.Find each value of k for which the lines y = @x — 1 and kx + 4y =12 are p 2
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11. The distance between points (1,2) and (x,8) is 10.
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@ABC had coordinates A(-1,-6), B(5,2) and C( -3,-2). Classify this tnangle by its sides
and angles. — T\ 2z
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13.ASRT had coordinates A(-1,-1), B(2,0) and C(0,10). Classify this trlangle by ltS s;des

and angles J \/m’“ j:g} i %
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14.Given isosceles triangle ABC with AC = BC and vertices with coordinates / /
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A(-1,4), B(-3,-2) and C(x,-1). Find x.
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